CFA® SAMPLE QUESTION - LEVEL |

Financial Reporting and Analysis

Q: An analyst want to study the trends in a firm's cost of goods sold
(COGS), the analyst should standardize the cost of goods sold
numbers to a common-size basis by dividing

CORRECT ANSWER:
@ sales Normal Income Common Size Income
Statement Statement
0 0 0 2013 2014 2013 2014
With a vertical common-size
. 90,000 100,000 100% 100%
income statement, all P&L ot e e s, .
o . Cost of Goods Sold $63,000 566,000 70% 66%
statement accounts are dividend
Gross Profit $27,000 $34,000 30% 341
by sales.
Taxes 515,000 $17,000 16.6% 17%
Total Profit $12,000 $17,000 13.3% 17%
CFA Society Hong Kong
Candidate Services
@ Mr.Zap Cheng, CFA s Date of issue: Disclaimer: This material is produced by a voluntary study group leader. CFA Society Hong Kong
) @ Candidate Services EH 1 Jan 2024 ' makes no representations about the accuracy, reliability, completeness, or timeliness of this

Committee material. Use this material at your own risk.



	Easy (L1)
	Slide 62


